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(i) All questions are compulsory.

(i) The question paper consists of 30 questions divided into four Sections ‘A’, ‘B’, ‘C’ and ‘D’.
Section ‘A’ comprises of ten questions of 1 mark each, Section ‘B’ comprises of five questions
of 2 marks each, Section ‘C’ comprises of ten questions of 3 marks each and Section ‘D’
comprises of five questions of 6 marks each.

(iii) Al questions in Section ‘A’ are to be answered in one word or sentence or as per the exact
requirement of the question.

(iv) There is no overall choice. However, internal choice has been provided in one question of 2
marks, three questions of 3 marks each and two questions of 6 marks each. You have to
attempt only one of the alternatives in all such questions.

. (v) Inquestions on construction, drawing should be neat and exactly as per the given measurement.
- (vi) Use of calculator is not permitted.

~ (vii) Start from the first question and proceed to the last. Do not waste your time over a question
which you cannot solve.

[1] [ PT.O.




gvg — I
(SECTION - “A’)
1. qﬁwmaﬁmﬁﬁ%ﬁmﬁsvﬁﬁuﬁ@TﬁWWWWMﬁ

q
Write the condition to be satisfied by q, so that a rational number —g— has a non terminating rep

decimal expansions.

2. o Rum 9gue S SR R Jraiel @ AT qu JuEwe HAE 0 3R V5 E|

The sum and product of zeroes of a quadratic polynomial are 0 and J5 respectively. What

quadratic polynomial.

3. 99 ST AABC ~ ADEF 3iR-37d &5%d HAT: 64 A1 TOT 81 HAR § afd EF = 18 ¥
BC &T A ST HITY |
Let AABC ~ ADEF and their areas be respectively 64 cm? and 81 cm?. If EF = 18 c¢m, find the

of BC.
343 1 3 .
4. SRR A 2 5 =5 T % U 5ed g ‘a’ 3R AIERiR ‘4’ forRay |
FrgeT] =3 ) _
For the A.P. D write the first term ‘a’ and the common difference ‘d’.

5. 92 100 91 QUITT BT IRT S BTG |

Find the sum of the first 100 positive integers.

1 cosec® O —sec’0
6. fear g tan@=—= @ BT A I
. JE ¢ cosec? B+sec’ 0 s

cosec’ B —sec? 0

Given that tan0 = = . Find the value of 5 =,
J5 cosec” O+sec” 0

7. Wﬂﬁaﬁﬁwsﬁ%lwﬁﬁwwaﬁmt

The radius of a sphere is 8 cm. Find its surface area.

8. Ts fAf¥Ed g & wiikiedr fea 8t 8 ?

What is the probability of a sure event ?

9. <1 ampfa ¥ 1 He g9, et d< 0 8, 3 Frourd 5 Wi &k 3 Wi ¥ | v @
P 9 39 g R &1 W¥ v@R PA TR PB €l Ol €1 afd PA= 129 o PB 9 BIRT

In the given figure, two concentric circles with center O, have radii 5 cm and A
3 cm. From an external point P, two tangents PA and PB are drawn to these “
circles. If PA =12 cm, find PB. #.———
e
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. P wefl @1 ST By faer

(@) o @

FrfiRae aRIRTT AR # b’ 3R “d’ BT AF HT DI 1
3 15-20 20-25 25-30 30-35 35-40 40-45 45-50

| RERAT 4 5 b 7 4 3 1
el IR 4 9 15 22 d 29 30

In the following frequency distribution table write the value of ‘b’ and ‘d’ :
Marks 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
Frequency -+ 2 b 7 4 3 1
Commulative frequency | 4 9 15 22 d 29 30

gvrs — q

%
(SECTION - ‘B)

fi1 aeilRaa fpd samey & F=falaa WRaw e &1 g™ ufesdl Y@l |durd Y@l ar
XT3t @ ST e 6x -3y +10=0, 2x—y-9=9

R IR @ Rre 98 s SR | 2

- Without showing the graph, state whether the following pair of linear equations represent intersecting

‘line‘s, coincident lines or parallel lines : 6x —3y+10=0, 2x—-y-9=9.

220
Justify your answer.

cos 70°

00

+¢0s57° cosec 33° —2 cos 60° T /I ST BHIT | 2

sin
(o]

0
~ Without using trigonometric table find the value of S 200 +¢0s57° cosec 33°~2 cos 60°.

, ABC U@ et 8, ford ZACB=90° | I CD L AB d Rig @ifoig f& CD?=BD.AD. 2

ABC is a triangle in which ZACB =90°.If CD L AB, prove that CD?* = BD. AD.

‘. @ g (3,2), (-2, -3) 3R (2,3) T 3 9=rar & 23S &, af 9arsy b e yaR &1 fBe a=ar

2| g

Do the points (3, 2), (-2, —3) and (2, 3) form a triangle ? If so, name the type of triangle formed.

5, 52 Ul Y AT Y TS A TP I AGESAT Sl T &, Wihear s S 75 7w 8w ;2

(@) s (@) @

- Acard is drawn at random from a pack of 52 cards, find the probability that the card will be :

(b) ared card
3dr (OR)

R 5 T B9, 8 WHT T oK 4 B @A ¥ | 39 RA ¥ A 1P B Agew P s
2| g 7T Wi § % fArer war @

(a) an ace

(@) &1 &l '

A box contains 5 red marbles, 8 white marbles and 4 green marbles. One marble taken out of the box

~ atrandom. What is the probability that the marble taken out will be :

(a) red

1 (HWH)
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] 16. 4052 3R 12576 &1 HCF Yfders Ao TeiRen &1 9T axa 5 i | )
‘i o Use Euclid’s algorithm to find HCF of 4052 and 12576.
m_ 341 (OR)
Tatsy f 3V2 T R e B
4: Show that 3\/5 is irrational.

17. 2x+3y=113R 2x — 4y =- 24 B! & BNV 3R X ‘m’ BT 98 A 57T AT o
y=mx+3 8|
Solve 2x +3y =11 and 2x — 4y = -24 and hence find the value of ‘m’ for which y = mx + 3.
18. el Topet & faenfefall @1 Seies Ty A Tew B oy 7 e [RBR 2 @ 31w T 700 T
& AR A® REBR 3G $P g TEPR ¥ T 20 FH & A Wi REPR BT A G |

A sum of ¥ 700 is to be used to give 7 cash prizes to students of a school for their overall acs
performance. If each prize is ¥ 20 less than its preceeding prize, find the value of each of the priz

i

19. Rrg DI & &5 (a, 0), (0, b) AR (1, 1) gAY & Tl §+%=1.

Prove that the points (a, 0), (0, b) and (1, 1) are collinear, if L1 +% =1,
a

20. g @ifvTT f& - 1+cosA+ sin A

Prove that : sin A 1+cosA

=2 cosec A

3141 (OR)
Rrg BT B 14secA B sin A
Prove that : secA  1-cosA
21. 39 IGYS B &A% W o orad i =0 mw ¥ AS, -3), B(—4, -6), C(2, -l
D(1,2) &1
Find the area of that quadrilateral whose vertices taken in order are A(-5,-3), B(-4,-6), C(2,-l
D(1, 2).

22. 49 350 & To g9 W 6 I B B ve Wod ga @ 6l g ¥ 1o e Y @
I 3R THD! ew1E MY | RSB W 39 719 3 S A Fw |

Construct a tangent to a circle of radius 4 cm from a point on the concentric circle of radius 6 ct
measure its length. Also verify the measurement by actual calculation.
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Achord of a circle of radius 10 cm subtends a right angle at the centre. Find the area of the corresponding :
“(:i) minor segment (ii) major sector (t=3.14)
J°rdT (OR)

& AR 56 m ST ATl U GTBR W ABCD @ < 3R a0 & JABR
el @1 qaTRal TufE TR ¥ | AR TS AR RN BT b Wl D QApei w1 | N
g =g O 8, o1 amfeR oif T el B qaial & eawel o1 AT T | ON
PN | (m=22/7)

In adjoining figure, two circular flower beds have been shown on two sides of a square lawn ABCD of
side 56 m. If the centre of each circular flower bed is the point of intersection O of the diagonals of the

square lawn, find the sum of the areas of the lawn and the flower beds. (m=22/7)

| 3% 0T 9O TX arEl g T @ W Y TP e TQ @ik E ¥ Rig @ fp 3

- ZPTQ=2Z0PQ
Two tangents TP and TQ are drawn to a circle with centre O from an external point T. Prove that :

/PTQ=220PQ
5, k' frw 79 @ forg fgama wHieRer 2 —kx +4=0 Hof aRER 8 7 3

For which value of ‘k’ the quadratic equation x* — kx + 4 = 0 has equal roots.

grs —
(SECTION - ‘D’)

6, T Hiex d1c @1 T @ Hfide 30 fH @ gR 77 A H o wH, S @ BRI & e
g 3 o A W 2 B SO § | A g1 @) | 2 fH /BT ® ot ReR et # AT @l A S

I | 6
~ Amotor boat takes 2 hours more to cover a distance of 30 km upstream than it takes to cover the same
~ distance downstream. If the speed of the stream is 2 km/hr, find the speed of the boat in still water.

. 3rerar (OR)
QEERl @ auf BT 3R 180 ¥ | BIST AT &1 I IS AT BT 3MMS T[AT & | [T WA S DI |

The difference of squares of two numbers is 180. The square of the smaller number is 8 times of the
larger number. Find the two numbers.

20 T e P T 84 I 2| A TE e B HaT BT e B S FIG T8 T 500 TR
AT & A1 59 g1 30 O ufy Y Y R | GHad B D HIAG S PIIY | 6

>IN @ e
' ‘The diameter of a 120 cm long roller is 84 cm. If it takes 500 complete revolutions to level a play

- ground, determine the cost of levelling it at the rate of 30 paise per square meter.

[5] [P.T.O.
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28. g AfTY s Bl o favg & forell g R i 12 vt Yamedl & @ @1 ior o R
e arel YXEEUS T B WR IAART BV BT FYRSD Bl 2 |

Prove that the angle between the two tangents drawn from an external point to a circle is supplen
to the angle subtended by the line segment joining the points of contact at the centre.

29. TS GHae WHE R G AR @ o 99 Rl # 40 Mex st o=l 81 ol § wieie
I 60° W TEHR 30° B O B | HHAR @ 9 s S |

The shadow of a tower standing on a level ground is found to be 40 m longer when the Sun’s al
is 30° than when it is 60°. Find the height of the tower.

3ierar (OR)
T agHfore A & R W 3@ W s 8 Aex $d Wad & RGN ¢d e & (a7 B
30° 3R 45° & | AT Wad 7 $Ha AR a9l D I Bl g TG DI |
The angles of depression of the top and the bottom of an 8 m tall building from the top

multi-storeyed building are 30° and 45°, respectively. Find the height of the multi-storeyed bui
and the distance between the two buildings.

30. frmifoRaa wroll {6 ifg & 100 Bl # g3 Ui 2acaR g &1 Seure T € ¢
JaTE (T / gace) 50-55 55-60 | 60-65 | 65-70 | 70-75 | 75-80
sasicaliiel 2 8 12 24 38 16
39 deq DI AfF B YBR &' g H gaferg R R SHsT aRer Fifg |

The following table gives production yield per hectare of wheat of 100 farms of a village :
Production yield (inkg/ha) |  50-55 55-60 60-65 65-70 70-75 75-80 |
Number of farms 2 8 12 24 38 16
Change the distribution to a ‘more than type’ distribution and draw its ogive.
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